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Questionl
) Expand the logarithm  logs| X" 2"
a) Expand the logarithm logs
(y* +2)
Solution

%[Iog x? +log z2 — log(y* + 2)} = %Iog x+§|og 7 —%Iog(y4 +2)

b) If xand yare any positive real number, then write the logarithmic

expression —2 + logs X2+ log, xy as asingle logarithm of base 3.
3

Solution

: - log, xy
Thegivenexpression =—-2log. 3+ log. x* + —2 "L
| P Js Js log,1/3

=log, 37 +log, x* — log, xy

37%x?
=log,
Xy

= log X
3 9y

If log2=.3 and log3=.5, then find the value of

Question?2:

1) log6
2) log5 See the solution in the notes
3) log; 600



Question3:

Find the exact value of

logs 32

1
) logs 2

2) In(Ine) + e1"2"3  See the solution in the notes

1

3) (+3)'*%+

Question4:

Solve the following equations
1 (3-x) _ 2x-5

1) ()77 =(81)
9

Solution

1 (3-x) — 2x-5
() (81)

— 9—(3—X) — 92(2X—5)
— 9—3+X — 94X—5

= -3+ X=4X-5
= —3X=-2

—=Xx=2/3



2) log,(—x)+1log,(6—x)=3
Solution

log,(—Xx)+10g,(6—x)=3

= log,(—x)(6—x) =3

= —6x+x°=3*=27

= x> —6x-27=0

= (Xx-9)(x+3)=0

=>x=9 or x=3

Check: x=9: Rejected
x=-3:0kK

. S.S.={-3}

Question5:

TRUE or FALSE

1) logx? = (logx)? False
2) log(3+3) =log3+log3 False
3) logl+ 2+ 3) =logl+log2+log3 True

4) If xis any nonzero real number, then logx? =2logx False

5) If log,; x >0, then xe(0,1) True
2



